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( Main Currents of Indian History )

1. Ocd 3R 991 9w« e 2

Which one of the following religions
was initiated by Akbar?

fa) Tooms of [

Islam

(b) A wf [

Christianity

{c) Pyl [
Sikhism

(d) 23w [
Din-i-Ilahi

2. DIEEEER (B @ PN SNifke 2

Who was the eldest son of Shah
Jahan?

(@ pe1 [J
Shuja

(b) GaTem O
Aurangzeb

(0 w3 L[]

Dara

(@) T L]
Murad

/510-B

3. FfelRe cme 9@ svea v

fRtvree siezze w91 ifke 7

Who was not associated with the
War of 18577

fa) ¢oven e [
Gulab Singh

(b) TRRR [

Laxmibai

{c) Sm=fom ot [

Tantia Tope

(d) == sz [
Nana Saheb

@ NCq-oAeE XY R Qe
w4g wfafee 2

Who was the Governor-General who
introduced the Doctrine of Lapse?

(@) o6 speerw [
Lord Auckland

(b) =16 eERes [
Lord Dalhousie

(c) =6 wefaferg [
Lord Cornwallis

(d) =16 Rem [
Lord Ripon

Sh0x FE {333y FIA SREW
ooy Rerr FRPwER Ak

The  Director-General of the
Archaeological Survey of India from
1902 to 1928 was

(@) =& <%, o O
J. H. Mackay

(b) = &= Arefier [
Sir John Marshall

(c) ©o Tt 2xeR [

Dr. Mortimer Wheeler .

(d) & «%. cofrs [
G. F. Dales

Lectures on The Science of
Language €471 ALl A

The author of the book, Lectures on
The Science of Language is

(a) To %, (5. = L[]
Dt. E.'J. Thomas

() WHeE O
Robert Shafer

(c) SR e [

Professor Max Miiller

(@ «%.% aEEee [
F. E. Pargiter

/510-B

7.

8.

AT’ CIRF R A

The Atharvaveda is consisted of

(@) avo [
730 hymns

() ave [
710 hymns

(c) oo [
700 hymns

(@ eso [
690 hymns

Ta2 (T 512D 20 I 26| FRRE 2

The first sermon given by Buddha
was at

(@ s [
Sarnath

(b) wer [
Nalanda

(0 o O
Rajagriha

@ =rE O
Vaishali

[ P.T.O.



9.

10.

11.

PHBE (TR I TN FT SR WifRe

Chandragupta Maurya took his last
breath at

(@) *mofirg [
Pataliputra

(b) ¥R Eise [
Shravanabela Gola

c) Iz [
Kandahar

(d) v A9 [
Chandan Nagar

e TEY 41 Al pero
@GR A ('3°) (3 IS T
227 ?

Who among the following rulers of
the Delhi Sultanate succumbed to
death while playing Chaugan (Polo)?

(a) T93-Cfuw-wizge [
Qutb-ud-Din-Aibak

(b) W-Sfre-2epefiy [
Shams-ud-Din Iltutmish

(c) @@ @m O
Razia Begum

(d) ¥ Rrees [
Rukn-ud-din Firuz

SR B IR RN R A T
T 7

Akbar’s Land Revenue System was
known as

(a) oz Iwafe [

Permanent Settlement

(b) &< e [
Zabti System

(c) I rar [
Bandobast System

(d) {9 hre 7=y [
None of the above

/510-B

12, FSHD e 2ads 91 (3fa

13.

The Rowlatt Act was passed in the
year

(@ >S»>avqs [
1917

(b) Ssdv 578 []
1919

(¢) S e [
1918

(d) >»30 546 []
1920

T=fer Aieal (M IR ‘Direct Action

Day’ cqmel Fffesr?
Which day was declared as the
‘Direct Action Day’ by the Muslim
League?
(@ %98, sssy [

16th August, 1946

(b) > (BTHFE, Svs8v [
16th September, 1946

() So A, sssy []
16th June, 1946

(@ >o g, ssse [
16th December, 1946

14. PO P69 39 EHo (a3t

The Patharughat Uprising’ in Assam
took place in the year
(@ sasg v [

1794

(b) Svrss e []
1894

(c) >sss e [
1994

{d) sssvve [
1996

15.

16.

2[5 ool ETRRGE [ /S 3
wifeeT 2
The Harappans did not produce
(@) = [
wheat
() = L
potato
c @l [
barley
(d) <z [

cotton

AR IR ARa e S0 SI=esiel
29

Which tree was supposed to be
sacred by the Indus Valley people?

(@) i = [
Banyan tree

(b) T o [
Pipal tree

(c) o= sre [
Fig tree

(d) o= oz [

Neem tree

17. fFaflRe Eeeas foese @@ ¢d-

JeTe $9 i sAfaEe 2

Which of the following groups of
people had to pay taxes in the
Mauryan period?

(a) =apies [

Warriors

(b) @Epige] [
Brahmins

(c) *afEe e O

Priests

(@ e [

Hermits

/510-B

18.

19.

20.

o s B B oerre wfee
wifee 2
Ashokan
composed in

(@) s [
Sanskrit

Inscriptions were

(b)) Sty [0

Ardhamagodhi

(c) ags [
Prakrit
(@ ceee@ O
Bhojpuri

@ AT SRe] F[E© FAe1
1 =H? ;

The reign of which dynasty is
considered to be the Golden Age in
Indian history?

(@ & [
Maurya

() vg [
Gupta

fc) s g L[
Vedic Age

@ <= [l
Pallavas

Al 4 T@ IR WF IR A
iafbe C2fRe ?

The First Battle of Panipat was
fought between Babur and

(a) yerom T L
Sultan Mahmud

(b) =R [

Humayun

(¢ =y el O
Ibrahim Lodi

(@) st RefE O
Alauddin Khilji

[P.T.O.



21.

22.

UNIT—II

( Indian Polity and Human Rights )

The International Covenant on Civil
and Political Rights adopted in

(@) >svo s []
1960

(b) S»eevye [
1966

fc) Sssovye [
1993

(@) 993 9ors 7= [

None of the above

o g wRier e Sem =1
wIfR4ehl =7+ _

The World Human Rights Day is
observed on

(@) e fvar [

December 15

b) so s [

December 10

) s8R O
December 14

(d) >s feogr [

December 19

/510-B

23.

24.

SROT WA PR W WA 429
N

The Protection of Human Rights Act
in India was framed in the year

(@) Ssvv oI [
1966

(b) Ssdovye [
1993

(c) Ssss vy [
1994

(d) s°93 @or8 7= [
None of the above

I/ T HEIR SR APPRAS
PP 2o

The term of the members of the
National Human Rights Commission
is
@) e qeg L[l
D years
(b) 3=y [
6 years
() 8T8 [
4 years
(d) 8RS «bre 7= []

None of the above

25. W< SR (202

Human Rights are

(a) Ao wftsE [
political rights

(b) S=ftafes ey [

economic rights
(c) TG s [
universal rights

(d) 8793 9bie 7= [

None of the above

26.

27.

b B-em @FrEN SReE W@
w51 e

British East-India Company came to
India in the year

fa) Seoovys [
1500

(b) Svoo s L[]
1600

fc) saco vwe [
1700

(d) <73 @ore =y [

None of the above

Tgey MRyW A I ARy Fow
soe] 91 C2fRel

The Constituent Assembly which
enacted the Constitution of India
was set up in

(@ >s8vbys [
1946

(b) >ss8avvs [
1947

fc) s»8s e [
1949

(d) sseovye [
1950

/510-B

28.

290,

TROF RRYFL 2%

The Constitution of India is

(@) of® sg& [
very flexible

() we e [
very rigid

(¢) 7B T o] e [
a blend of rigid and flexible

(d) 798 =y e w2 U
neither rigid nor flexible

R W SRR A
SRS WRYTE AT TS A
e

The words ‘secular’ and ‘socialisf’
were added to the Preamble of the
Indian Constitution by

fa) o> FeEA w| [
39th Amendment

(b) 8> oA v [
41st Amendment

(c) 83X IR w [
42nd Amendment

(d) seoT wengA [

44th Amendment

[P.T.O.



30.

31.

©olq (IO S WG ?

Which one of the
statements is correct?

following

(a) SO RRYFT (fer wiFFPNR
freeer O

Fundamental Rights in the
Indian Constitution are
absolute.

(b) CTfere ez RemcED =27

Fundamental Rights are not
justiciable.

(c) Clfers st fomcaen [

Fundamental = Rights are
justiciable.

(d) (e SRFBTR CTRERT HPFE
Rerz el FeilRes PRI 279
Erc i

Fundamental Rights protect
Indian citizens against tyranny.

R wmfRey =Ry TRweR Raw
T SR

The six freedoms of the Indian
citizens have enshrined in the

(a) SeeRw S8 o|1 sviA [
Article 14 to 18

(b) SFCE% >89 7|l eeta [
Article 14 to 35

(c) e s [
Article 19

(d) SRR 5T A9 jeeA [
Article 21 to 26

/510-B

32.

33.

Seq ABUfSe fifoe Ta1 =

The Indian President is elected for

fa) 2 g9 A [
2 years

(b) ¢ &g A [

5 years

(c) 8 A L[]

4 years

(d) v IF [
6 years

THed B qEETeRd WM R
A

The President of India can nominate
to the Rajya Sabha

(@) So o 3wis L[]
10 members

(p) & [

2 members

(¢ sswswrs [
12 members

() «ee ==y [
No members at all

34, IEpERR A fo

The Governor of a State is appointed
by

(q) ©eq qgefecy [
the President of India

(b) AT RyFmesR e 1

Members of the State
Legislature

(c) gy LA O
the Chief Minister of the State

(d) ©iges gymwacs L[l

the Prime Minister of India

35.

36.

37.

S e wEEe (2R
The Concurrent List contains
(@) &% fRwy [
52 subjects
(b) Soobi Rma [

100 subjects

c) w3hiRmm [
61 subjects
(d) <493 e =m [

None of the above

TEOY Twey TEEEd W TGP
TR RBore SR FR AR o[ A
/AR

The Chief Justice of the Supreme
Court of India can hold office
maximum up to the age of

fa) ve 3™ [
65 years

(b) vwo=q [l
60 years

() ew3=g [
58 years

(d) @ IR Sz O

No age bar

2l IO TS T 1 CafRE
The ‘Magna Carta’ was signed in
England in
(@) >edevre [
1215

(b) S3x0 58 [
1220

(c) S3d>ovqe [
1210

(d) sxeo e []
1230

/510-B

38. FH AR LGN (TS TWES

39.

40,

=R

The Universal Declaration of Human
Rights contains

(a) &b Sy [

25 Articles

(b) ©obl Srn [

30 Articles

(c) oeb wn [
35 Articles

(d) e¢obl s [
50 Articles

RICE IR EEACE B o B o (CRRC
RGP’ SWYS (0= 7

The TRights to Peace’ belongs to
which generation of Human Rights?

(@) 2w [
First
() & O
Second
() vorm [
Third

(d) e*¥q Wore w=m [
None of the aboye

O AR AT WEFE WS sioe
[€lEg

Assam  State Human  Rights
Commission was formed in

(a) >s>g 515 [
1994

(b) ssse v [
1995

(¢ >»veo e [
1996

(d) Ssvr e [
1998

[P.T.O.



UNIT—III

( Major Features of Indian Economy )

41. (IFRD IR A

Graphite is found in

(@) Tfegres [
Odisha

{b) IGATTS Cd
Madhya Pradesh

(c) sfoFs [

Karnataka

(d) some [

Assam

42. R @A TeI-ofdiees AT
Tl 4 wiem ?

Which of the following North-
Eastern States has deposit of
uranium?

(@) o [
Meghalaya

(b) PR O
Sikkim

() Temee [
Nagaland

(@ feemn O
Tripura

/510-B

10

43. NABARD 3 <01 337 37 Cx”
The main function of NABARD is

(@) Srwifes Tagw [

industrial development

(b) IR ¥ [

credit to agricultural sector

(c) craes e O

development of tertiary sector

(d) << w1
All of the above

44, SRS (AL WS 05> I PR
TOR TR T ?

Which of the following States in
India has the highest MMR in 20117

(@ spw O

Assam

() Rzm [

Bihar

(c) Sevs gom [
Arunachal Pradesh

(d) | O
Delhi

45.

TRES (1% f[R2Ee & F 9 2

Who was the main architect of
Green Revolution in India?

(@) .. wzamis O
P. C. Mahalanobis

(b) @, @5, ¥R []

M. S. Swaminathan

(c) «¥. 5. sEpeafer [
M. S. Ahluwalia

(d) e "3 gecn = [

None of them

. NRHM ¥ #f %#1ch1 f 2

What is the full form of NRHM?

(a) National Research on Health
Management 1

{(b) National Rural_ Health Mission

{c) National Rural
Management L]

Health

(d) e7qq «bre wam  []

None of the above

/510-B 11

47. RS R YI9 G5 HAFPIRT T 2'H

One institutional source of
agricultural credit in India is

(@ v3m O
landlord

() w0

zamindar

(0 IfRTe @ O

commercial bank

(d) ¢*"9 «vre v [

None of the above

48, ©FF (FCOI ANFICII =% 7=2H ?

Which of the following is a non-
renewable resource?

(@) ¥ [l
Coal

) w8 O
Timber

(c sorz [
Wind

(d) <*"3 «bre vz [
None of the above

[ P.T.O.



49, ST (@FRY WG TOME ©IE T
e R = 2
Which mineral resource is called
liquid gold in India?
() BoEfaw [
Uranium
() e cse [
Crude oil
) cneRs [
Iron ore
(d) apres ¢ov [
Natural gas
50. SO WIS WH oA I
National Income of India is
computed by
fa) Nso L[l
() Nss [
() cso [
{d) ncc [l
51. SHSRS Ol SKAR (SRR
@O TP 39 W2
When were RRBs established in
India? :
(@) svae vy [
1975
(b) Svus vy [
1969
c) sse>vre [
1951
(d) Sud>bqe [
1991
/510-B 12

52. @ (0 TZEE Soame 2

Which of the following is a
‘Maharatna Company’?

(@@ ONGC [

(p) BSNL [l
(¢ GAIL [
(d) 1ocL L[l

53. (I PR FRYET 7o wfvs 2

Which type of unemployment is
associated with agriculture?

(@) TRA g [

Disguised unemployment

(b) wgsre P [

Seasonal unemployment

(¢ s O
underemployment

(d) @< wRR [
All of the above

54. 303 THG CAMPEE SRpIR  (FRN
TETS THPIOd o1y FHCEAOLS TN ?

According to 2011 Census, which of
the following States has the lowest
population density?

() =eme o [
Arunachal Pradesh

(b) eacas [
Nagaland

fc) PR [
Sikkim

(@) = [

Assam

55.

56.

N (4f&F 2ABE <P AT THA

Jhum cultivation is practised in

(@) e [
Meghalaya

() e O
Delhi

) ¢y [
Goa

(d) =g [l

Maharashtra

NREGA Hi¥8 ¥91
NREGA was introduced in the year

fa) 000 vye [
2000

(b) Rooevve [l
2005

() xoca e []
2007

(d) xo38 v [
2014

57. g wefiAAe® A o 1 =W

New Economic Policy was
introduced in the year

(@) Ssvevyo L[]
1985

(b) sss> @ [
1991

{c) X000 BN O
2000

(d) 2038 e [
2014

/510-B ' 13

58. PURA 9 YRCH1 (I SRGRRA?
Who gave the concept of PURA?

(@ v om@ O
Mahatma Gandhi

(b) Q. . & s e O
A. P. J. Abdul Kalam

(c) 73w aom [

Narendra Modi

(d) w@=gene e [
Jawaharlal Nehru

59. T RIS ARTEIR Froe ez

The strategy of 11th Five-Year Plan
was

(a) SwefeE e [

inclusive growth

(b) e ses Repy O
export led growth

(c) ()= (b)7or [
Both (a) and (b)

(d) e qore w=m [
None of the above

60. SHOIFST 30)d TS NG ¥4
sifmer wnfee '

The percentage of forest cover in
India in 2011 is

fa) 21:05% [

() 19% [O
) 20% [
(d 25% [l

[ P.T.O.



UNIT—IV

{ Basics of Education and Pedagogy )

61. ‘Education’ (Bl (¥ SHN I
wifécz ?
From which language is the word
‘education’ derived?
(@) s [l
Latin
() wam O
French
{c) FATFO |
Sanskrit
@ =% [
Greek
62. T ArFAS ST 5w 91 (22T
The National Literacy Mission was
established in the year
(@ Ssdove [
1996
(b) svvvroas [
1988
) Ssssvye [
1999
(d) Rooo mTe [
2000
/510-B 14

63. Ifer Fe@ SEerel 2 iR =Ie
s | 0 o O - B B T IIRE ST
o/f57 Wfe 447 Roar FANEEH FHEHR
& g o =0

The adjustment mechanism through
which a person in varying degree
makes himself like someone else is
called as

(@) 2ewe [

projection

(p) Parsees [

identification

fc) =ooma [

compensation

(@) s [

repression

64. SITE I 5= Fochl '
The full form of SITE is

(a) Satellite Instructional Television
Experiment ] '

(b) Satellite Information of Techno-
logical Engineering [3]

{c) Science Instruction of Television
Experiment L[]

{d) Science Information of Techno-
logical Education [

65. FHIB AT TfeTe To FARwER Tom
Cafee

Krishna Kanta Handiqui State Open
University was established in the
year

(a) coo twve [
2000

(b) 2009 HIS O
2003

{c) xcoe BAS |
2005

(d) 2o0vbye []
2006

66. e’ TgR RIrR @EG IER

CMes 7

‘Hero worship’ is the characteristic
of which stage of human
development?

(a) o [

Infancy period

(b) IRER O
Childhood

(c) FeieER [

Adolescence

(d) <79 9ore 7=8 [

None of the above

/510-B
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67. FIORT F'WRCH TORA € FremeR
G CanReTay

The teaching method developed by
Friedrich Froebel is

(a) PaRsmhs omfe [

Kindergarten method

(b) oF® *rfe [
Project method

(c) woordl s [

Montessori method

(d) efefes smmfs [
Playway method

68. THIAGH (P9 GBI TR TR

One example of defence mechanism
is

(@) E@ee O

cooperation

(b) afecaiver [l

competition

(¢ Fegessa [

rationalization

(d) 873 SR [

All of the above

[ P.T.O.



69.

70.

T1.

T (FWE Ciew REAPR P
TR 7

Which of the following is a main
component of classroom
communication?

(@ Frss [l

Teacher

) Predl O

Student

(c) ~morew [l

Curriculum

(d) 793 bR [l

All of the above

el S @bl Tnizad (xR

One example of audio-visual aid is

(@) GF'e []
blackboard

) @ O

radio

c) ofefess [

television

(@ &% e [

tape recorder

R (@ e AifS 712w 2

Which of the following is not a
principle of learning?

(a) Fraefis A [

Principle of child-centeredness

(b) aEfes e [

Principle of readiness

(c) Sepiewe ate O

Principle of exercise.

(d) Feeed afe [

Principle of result

/510-B 16

72. AW ez Fre SicR e 79 2kE

73.

T4.

National Adult Education
Programme was started in

@) Sswave [
1987

(b) ssav e [l
1978

¢ svavvye [
1878

(@) ssvrevae [
1986

CAI (22
CAl stands for

(a) Computer Aided
Instruction [

{b) Computer Assisted
Instruction [

(c) Computer Authorized
Instruction [J

(d) e «ore 7= [
None of the above

NIOS (==

NIOS stands for

(a) National Institute of Open
School

(p) National Institute of Open
Schooling

c) National Institute for Open
School

(d) 7T worREE [

All of the above

75.

76.

717.

303y B CARIPRE WO
FOR 29 2

The literacy rate of India, according
to 2011 Census, is

ISR ICEEE

(@) 7526% []
(b) 76:11% [
fc) 74-04% [

(d) @79 abre 7z [
None of the above

SIEIRERA I qbT TR CErR

One  example  of
communication is

non-verbal

(a) m s O

group communication

(b) Pam e O

drawing communication

{c) seriems O

mass communication

(d) e°Ra wnfEeE [

- All' of the above

@Wﬁﬂﬂﬂﬂi@ﬁﬁﬂmﬁ%
CefEs

The first Open University of India
was established in

(@) Sevy e [
1882

(b) Ssvyy vie [
1982

c) svwrasygs [
1985

(d) xoo0e vve []
2005

/510-B 17

78.

79.

80.

R. M. Gagné 9 (S o9 (P61 e
9Ol 2P =Y ?

According to R. M. Gagné, which
one of the following is not a type of
learning?

(@) s s [

Signal learning

(b) TR iR e [
S-R bond

(c) IfRe wegest [
Verbal association

(d) e s O

Imitation learning

CAFfefSs /el R R A RS
347z fufea

The playway method was first
introduced by

(@) &= feex [
John Dewey

(b) =B coomme [

Herbert Spencer

c) =rEEe [l

Lazarous

(d) @RI [

Henry Caldwell Cook

"SR RS TiegRd MR P!
TS GIY© 2 -

Delinquency’ is related to which
stage of human development?

(a) CrEeE [

Infancy

(b) IFRE [
Childhood

(c) (o [

Adolescence

(d) engemzeEe [
Adult period

[ P.T.O.



UNIT—V

( Sociology )

81. @A 2ifEfes 7o1 e w1l FfRRe 2
Who classified status “into two
types?
fa) <o foroa O

Ralph Linton
() & @@e O
Max Weber
(¢ Ts [
Sumner .
(d) e"R e 7= L
None of them

82. (FIw (ke ‘o 2fEfS 2’7 Twiee

SRS G ST FH 2

Who said “social status is one’s
place or position in a given social
structure”?

(@) T oF o L]
Young and Mack
(b) Ve E o o L
Maclver and Page
(c) T e [
Herbert Spencer
(d) eHq o = [
None of them
83. HGOgS NNRE ARSI =Rl (A
AT IREE IR 7

Who first introduced the term social
norms in sociology?

@ o= @a L
Max Weber

) . oRke L
M. Sherif

() Fwef=sf [
Karl Marx

(d) e°RA e = [

None of them

84, TR (PG SRORI TEOGRT ?

Who among the following is an
Indian sociologist?

(@) WrS I O

Irawati Karvey

() cm@E" O
Max Weber

c) il [
‘Karl Marx

(d) e e = [
None of them

85. (FFAT (9 TTNEOGd SR ?

Which country is the birthplace of
sociology?

(a) T@e [
England

(b) F= [
France

) wRe [
America

(d) e s 7 [l
None of the above

86. WYFT S g Ity AR FdR
IS

The status of a person in a modern
society is determined by

@ F& [

occupation

(p) wte L[]
caste

(¢ of [
religion

(d) 9] «hre 7= [
None of the above

87.

88.

w58 $°0 @fon TN omdRen’s
SIETeg fREIe APALE AN IR 2

When did Auguste Comte renamed
his ‘social physics’ as sociology?

(a) Svdv e []
1818

(b} Sveavve [
1857

() >vroy vye  []
1839

(d) ¢RIy ore = [

None of the above

I TEregd faow Pre ool s 391
27

Who considered as second father of
sociology?

(@) 3@ [
Max Weber

() =8 3% [
Auguste Comte

(c) = e [
Herbert Spencer

(d) 899 o =8 [

None of them

89. (I (PfREl ‘W™ ='H AN Iwa
e oMol Fwer’” 2

Who said “Society is a web of social
relationship™?

(a) CTPSZSR 9% o5 [

Maclver and Page

(b) i [

Durkheim

(¢ seEss O
Auguste Comte

(d) @°R[] a&e J=m [

None of them

90. STHOGRWIPH SR F(T

Sociologists study

(a) T=E &gq e e [

social aspect of human life

(b) R s T fer O

functional aspect of human life

(c) W Glewi scar e [

all aspects of human life

(d) &5 «avre v [

'None of the above

/510-B ' 18
510-
Atk 19 [ P.T.O.



91.

92.

Caste in Modern India : And Other
Essays =Ng RS 1 (P ?

Who is the author of the book, Caste
in Modern India : And Other Essays?

(@ &¥. @, A O

M. N. Srinivas

() . @ gm0
D. N. Majumdar -

() @& %, ofiq T
L. H. Morgan

(d) &9 «sen = L

None of them

TORPR 9] THEEe 2 F

Fasting is an example of

(@ zfesm O

norms

(b) een L

values

) = L

status

(d) &3 «ore = L

None of the above

/510-B
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3.

94,

S wwE, A, AAT PO
wF  FENO—WEE @3 TR 3ME
@A Tray SfafRe 2

Geographical location, reproduction,
comprehensive culture and
independence—Who mentioned
these four characteristics regarding
society? :

(@) €25, <%, s [
H. M. Johnson

(b) . @1 ey L

M. N. Srinivas

(0 ceizeR W e L

Maclver and Page

(d) @1 wee vz L

None of them

ST eI *ATO! (I LU T
fafest 2

The term ‘social structure’ was first
used by

(@ =B es U
Auguste Comte

(b) TG e [
Herbert Spencer

(¢ & . w1 [
R. K. Merton

(d) e guen w1

None of thefn

95.

96.

97.

LRt DICERC T O e i T S L R | S|
wifes

Ideal family in the traditional Indian

society was

(@) o AfRaE [l
joint family

(b) oREbm cfRwe [
nuclear family

(c) Trpay ARgE [
matriarchal family

(d) &[T Qe 7=y [
None of the above

GO (AL IS FLg 7=H ?
Which of the following is not a social
institution?
(@ a8 [
State
() e [
Family
¢ o [
Religion
(d) e[S qore =y [
None of the above

gy Besfs oo Jferrae Prase
WYL @A ? '

Whe is  the supporter  of
occupational theory of origin of
caste system?

(@) wFm [

Nesfield

(b) sa v [l
Abbe Dubois

(c) Refr L
Risley

(d) &= e w2 Ll
None of them

/510-B

8.

99.

100.

T (@00 SIS IREE bR w2 2

Which of the following is not a
character of caste system?

(a) SIS &7 e/Fs Sgfee [

Caste is based on birth

(b) &S Ry eofle sy [

Caste is based on marriage

(c) wfex 8 3fe =er [

Caste has a definite occupation

(d) e°[3 qore 7= [
None of the above

wyerg 2AfRfeq Gb7 TuzRe 24

One example of achieved status is

(@ wfe [l

caste

b)) & O

class
() o O
religion

(d) @799 «ore 7= [
None of the above

Society—A Systematic Introduction
AN 2R T T 7

Who is the author of the book,
Society—A Systematic Introduction?

(a) <%b. 9%, Soer [
H. M. Johnson

(b) Re@ [

Risley

) @™ O
Max Weber

(d) e°=9 aoice 92y L]
None of them

[ P.T.O.



101.

. UNIT—VI
( Geography of India—Physical, Economic and Political )

TRGI (@R TS HEE Fe
(P (ZANE JRFR 391 (AR ?

In which of the following States of
India is the largest coal reserve
found?

(@) = [

Assam

(b) =g goer L
Madhya Pradesh

¢ Iqe [
Jharkhand

@ e O
Odisha

TSR @ S HEE TAS 4
Teom 74 ?

Which State is the largest producer
of rice in India?

(@ neR [
Punjab

®) P O
West Bengal

¢) Texewe O
Uttar Pradesh

(d) <& avrt [
Andhra Pradesh

/510-B

22.

103.

104.

TR (R WS whRelF @R
TR R ?

The State having largest area of
forest cover in India is

(@) e eoet [
Uttar Pradesh

(b) e L]

Rajasthan

c) g zoey O
Madhya Pradesh

(@) Qe [

Mizoram

GTEE W IR e @l
YA 7T R ?

Which channel separates Andaman
and Nicobar Group of Islands?

(@) » & & O
9 Degree Channel

() >> & & [
11 Degree Channel

¢ So fF gerd [
10 Degree Channel

(@ se 25 g [
15 Degree Channel

105. oo SfER® SHes WG $-AFRe

106.

He] SHEelE Uled ?

Which of the following is the largest
physiographic unit of India?

(a) Raey oo wwe [
The Himalayan Mountain

(b) Teg ey e el www [
The Great Plain of North India

(c) wifEpeTer TRre wwe [

The Peninsular Plateau

(d) Serpery el wiwe [
The Coastal Plain

MR R RS SERe |

Srinagar is situated on the bank
of

(@ B U

Indus

() = [
Jhelum

© fam L]
Chenab

(@ Rern O

Beas

/510-B 23

107.

 108.

TS YT PP ) =R ?

How many Union Territories are
there in India?

@ vor [
8

(b) o1 [
6

fc) sor [
9

(@ o [
7

e (I YR IR afes T
T ?

Which of the following .soils is,
suitable for cotton cultivation?

(@) s [
Red soil

(p) erpE e [
Alluvial soil

© e O
Black soil

(@) @oEEs = [

Laterite soil

[ P.T.O.



109. TESE HFooq Af=e I =9

The fastest mode of transport in
India is

(@) @ “fRgza [
Railways

(b) o= oz [
Roadways

(c) & “Raza [

Waterways

(d) s cffgeze O
Airways

110. *fo% W09 SI¥S (IOl AW A I
Z=?
Which dam is built on Sutlej River?
(@) oI we amm L
Bhakra Nangal Dam
) Fagwam O
Hirakud Dam
{c) omef o <= [
Nagarjuna Sagar Dam
(d) w0
Sardar Sarovar Dam

111. SRS @R IS LT IZW T
w4ES 7

In which State of India is
Ranthambore
located?

(@) TeEw [
Rajasthan

(b) Tes gved [
Uttar Pradesh

c) weans L[]

Gujarat

(@) e O

Haryana

/510-B

National Park

112.

113.

114.

TRed 5 WFRE Fam wer el
e S R ?

About what percentage of the total
area of India lies under plains?

(@ 45% [l
() 50% [l
€ 43% 0O

O

(d) 47%

TSR SBIREE T X! % 2

Which is the highest mountain peak
in India?

(@ K, [
(b) WG Tese [

Mt. Everest

(c) FeweE O
Kanchenjunga

(@) = e [
Namcha Barwa

TR (PN IEO TR SEY (NIl
JH ?

In which of the following States of
India are Mangrove forests found?

(@ =

Assam

o) TwER [
Rajasthan

{c) v [
West Bengal

{d) o e B
Uttar Pradesh

115.

116.

117.

TR SRS (FWIE e WS ARg Wt
TBoIeet s 91 2/ 7

Which is the most sacred river of
South India?

(@ =wfm [

Narmada

(b) w==m [
Mahanadi

(c) el O

Godavari

(@ s O

Kaveri

TR (MY IFI ANS SR ey
GBI S iy 02 W ?

With which of the following
countries India shares its longest
boundary?

@ “nEm [

Pakistan

m T= O
China

) e [
Nepal

(@) I
Bangladesh

ASEAN (T 5o sifds (2feet 2
ASEAN was formed in the year

(@ 1967 [
() 1970 [
¢ 1960 [l

[

(d) 1972

/510-B 25

118. SAARC-T Y41 IR $'© w€(®s ?

119.

Where is the headquarters of SAARC
located?

(a) Jemert L
Bangladesh

(b) dEs O

Pakistan

{c) Sm O
China

@ s O
Nepai

TIST (AT NS 20 L=’

The saline water lake in India is

(@) 9w [
Loktak Lake

(b) e zw [
Wular Lake

) 7z U
Sambhar Lake

(@ wmzw O
Dal Lake

120. IRE© TIW IW WE W A

(Commission for Agricultural Costs
and Prices) ‘PToN WA ' oo
CFIACO! RCTB1 S Segeamel ¢ 2

Commission for Agricultural Costs
and Prices recommends ‘minimum
support price’ while taking into
consideration

(@) A2 costs [

() A2 + FL costs [

{c} C2 costs O

(d) C2 + FL costs L[l

[P.T.O.



UNIT—VII
( Tribes of India and Tribal Development )

121. SREER® IDPs (SRS THRRS

122.

(%) PR e comar I |

Conflict induced IDPs (Internally
Displaced Persons) are found in the
district of Assam.

(@) @R O
Kokrajhar

(p) e [
Nagaon

(c) Freemeg L

Sivasagar

(@ fRgere U
Dibrugarh

RO ol EHR WS TSI
Toe GAEINS (ANbI SR e ?
How many tribal groups are there in

North-East India according to the
Anthropological Survey of India?

(@ 314 [
) 213 0O
) 635 O
@ 188 LI

/510-B

123. TR THEOH FF @FWCH A ARE

124,

fRpETe 2feY T4 CafRE ?

In which Five-Year Plan,
Multipurpose Tribal Blocks was
set up?

(@ 2 [
First

) o [

Third

() vg O
Fourth

@ R"em O

Second

SROE RRUFE I AR SRS
o R Sed IR wE
WG GHGION  SWEd P NI
i S SNeIR 7

Under which Article of the Indian
Constitution fixed grant is provided
for the administration of tribal areas
in hill districts of North Cachar and
Karbi Anglong?

(@) 46 O

() 275 (1) U
¢ 339 0

(d) e°® ahre w=m [

None of the above

125. ITDP 3 55 eich1 2

The full form of ITDP is

(@) PRIAT SeeTon TrEe s [

Integrated Tribal Development
Project

(b) RSN TETOR T AR [ '

Indian  Tribal
Programme

Development

fc) SO TwEToR TN 2w [

Indian Tribal Developmental
Project

(d) s°@q «his vz [

None of the above

126. (¥q T “M&S (Area Development

Approach) AT AR F =W

Area Development Approach was for

the first time implemented during

(@) 0 “eaie fResme [
Second Five-Year Plan

(b) ¥ xS RFmae [
Fourth Five-Year Plan

(c) 1% RS ARFge Ll
Fifth Five-Year Plan

(d) €59 ore w=m [
None of the above

/510-B 27

127. ©FR (I A Tem o B

128.

A8’ “IfRvTe PR ?

Which of the following organisations

carried out the ‘People of India
Project™?

(a) SO ol dw [

Archaeological Survey of India

(b) SOm Sfenm w1

Botanical Survey of India

(c) ©ROR oifgs swicdwa [

Anthropological Survey of India

(@) sEom g sFewa [
Zoological Survey of India

oo SRife SPTER (PIIE TERME
RGAEF ?

Which of the following communities
of Assam is a Pastoralist?

{a) Cofi=neT O
Gowala

(b) To1 [

Tiwa

c R O
Mishing

(@ e [
Bodo

[ P.T.O.



120. woe TRRG @FEH JENAE SSON

TIREE A ‘AT e R 7
Which of the following Prime
Ministers of India  proposed
‘Panchasheel’ for tribal
development?

(@) 2o [

Indira Gandhi

(b) oA B [
Manmohan Singh

(o) s sazgere oe [
Pandit Jawaharlal Nehru

(@) & cez O

Morarji Desai

130. 303 T CAIREPRE S, P P
PRGN PP wEEfes e 2
27

As per 2011 Census, the percentage
of the Scheduled Tribe of Assam is

(@) 18-34% L[]
(b) 1367% [l
() 6801% [
(d) 5000% [

131. RN Tofes T afed iz

Anthropological Survey of India was
established in the year

(@ >»savve [
1947

() Svey we [
1062

(c) SvsevIe [
1945

(d) ssex vre [
1952

/510-B
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132.

133.

134.

wre SRRe (@G oD (EEEe
A FHCAO! ?

Which one of the following is a major
tribe of Meghalaya?

(@ o [
Apatani

() e O
Wancho

c) we O
Khasi
T

Deori

q03s B cARPEE Sl Wi
GEIfS- 24 I T
According to 2011 Census, the
highest concentration  of the
Scheduled Tribes is found in the
State
(@) S eoet [

Arunachal Pradesh
(b) s [

Assam
¢ e [

Meghalaya
(@) Tazoer L

Madhya Pradesh

ST FITPE PRA FC
Karbi tribes of Assam inhabited at

(a) ARG fFere O

Jorhat District

(p) o fEeme [
Dhemaji District

(c) R =izEe femmre [
Karbi Anglong District

(d) el e O
Kamrup District

135,

136.

137.

wpp fifeeees o[es [ 3fer serers 2

Mishings

known as

(@ ff" O
Miri

() Rfss O
Mikir

() = O
Lalung

of Assam are earlier

(d) e g o 7w [
None of the above

I S T4 =

Jhum cultivation is practised in

(@) >Noergfy wee [

plain areas

(b) TSl wwere [

wetland areas

(c) T2 e [

hill areas

(d) "% «ore =m [
None of the above

S RS *RSETR SIeeAT 25

Famous
India is

@ = O
Bhil

() Gre O
Toda

pastoral community of

(¢ sts [
Gond

d) s O
Birhor

/510-B 29

138. SPN{ GCSIDIGE AU

139.

140.

Tribals of Assam are mostly belong
to

(@) T’ e swse [

Negroid race

(b) IR e wwee [

Caucasoid race

(c) TR zefes swse [

Mongoloid race

(d) $°[R] «ore 7=y [
None of the above

SR S ReweId Reom e
P gy W= 2

Which of the following is not a
characteristic of Particularly
Vulnerable Tribal Groups (PVTG)?

(a) A v SRy [

Increasing population

(b) Sfeeire foig srwae [

Extremely low literacy

(c) =@ seifs [

Subsistence economy

(d) e°<q wore 7= [
None of the above

GG FAPOPITT I =

The cause of tribal displacement is

(@) = fsfiq [

construction of dams

() 25w ey O

development of projects

(c) e e F=omg Tey [

rich mineral source

(d) &9 wivieRer [
All of the above

[P.T.O.



146. S 4:35, “ACReN 28 :
UNIT—VIII fui 35y 1 1 B 148. 1948 H1 30 WREIA AYGR B IR 2

B FB[@ e »
( Logical Reasoning and Numerical Ability ) . Rl
L What was the day of the week on

' The angle between the hour hand 30th January, 1948?
141. 9+16+25+36+...+100="? 143. 24 53 116 * 514 CI® 7= ARG and the minute hand of clock when ik
fefy w97 1 the time is 4:35 p.m. is
Find the missing term in the
{0430 L sequence 24 53 116 * 514. (a) meam [
S
() 420 O (@ 200 O (@ 65%° [ Ve
b 243 O
© 390 L[] o) oA, [T ) 70° [ (b) &R [
Friday
(@ 380 [ @ 318 Ll
(c) 72° [
144. AUG="? O (¢ R [
Monda;
142, A WF B9 &5 I FH 20 o o= @ ¢ U @ 72%° O e
12 fire 37 oM A @ FeEREte 0
BCH! S I 4 TR 25w B IR w1 )= 4
eI | ST e Tt oferet 2 0o O (@ eRE [
A and B can do a piece of work in : Tuesday
20 days and 12 days respectively. (d) R [
A started the work alone and then : =
after 4 days B joined him till the oyl ; 147. 1 "‘Fﬁ‘f%ﬁ 12 95R e 'ﬂ%] I
completion of the work. How long 145. 1 ¥ P < UE, I8 FHT‘I “zm q e it GFA5 (N R RI
did the work last? ~ P 3 AT p W HE V) WM W, i 1 :
(508 P v ~ P9 5197l TN 23 ! e nu.m er of times the hour hand 149. n AYE n WTe Mag 31N L
Let P b t t either t and minute hand will be together in
(@) 51 f M f:lse ~ePasf;i§??; Elg;tzo;ugfo; between 1 hour and 12 hours is The nu_mber of days in n weeks
5.1 das and ‘v’ is conjunction. Then truth Htlaym ds
v value of Pv~ P is
. (@ 12 [] :
) 61 % [ () o1 L] @ sn [
irue
6:1 days
' b)) o [
(b) 1??;1 0O (b) w0
¢ 59f O | s
59 days : (c) e s e O © 11 0O ig w2 ]
Cannot be determined
(@) 56 % [ (d) e e [ eI
56 days None of the above 4 d) on [
/510-B 30 s 31 [ P.T.O.



150. @47 T 2AY 160 km, 64 km/hr
@57 € {59 160 km, 80 km/hr
caare 5% ¢ | MBIYR 1 #fe 279
A car travels 1st 160 km at
64 km/hr and next 160 km at
80 km/hr. The average speed of the
car is
(@ 71-11 km/hr [

(b) 70 km/hr [l
) 72:11 km/hr O
(d) 71-8 km/hr [

151. x 9F y9 93 JeRFE 2¥ES I |
8:00 am® (SEERSE GF o2q o}
R e 5ifS IE | x WF y 9 T
2 WF 3 AR 2lfS THS G | (CSCEALT
9:00 a.m. C51CF (F2IN A9 K ?

x and y walk around a circular
track. They start at 8:00 a.m. from
the same point in the opposite
directions. x and y walk at a
speed of 2 and 3 rounds per hour
respectively. The number of times
they shall cross each other up to
0:00 a.m. is

fa) 3 l

m. 5 [

fc) © L]

@ 1. [l

/510-B

152.

153.

154.

1.7 #otq 5P T g o < qif#
I3 B 2]

Find the missing number in 1, 1, 2,
3, 5, 8, 13, 21, :

@ 31 O
() 28 [
) 34 [
@37 L

x2 + x+ 1= 0 NI [ Pl A

The roots of the

x2+x+1:0are

equation

@ 1,0 O
() o0 [0

(c) -v,0 [l
@ o, 0 O

i 7+/5 b fawre AR T H,

(08 SFCG! T 2]

If 7++/5 is one root of a quadratic
equation, then the other root is

@ 2++5 O
®) 5+47 [0
© 7¥5+5 O
@ 7-+5 U

168, log, 274 9 29

156.

The value of logs 27 is

(@ 9 [
Bl ok
fe) 3
@ 2 U

1+0-1+(0-)2 +(0-)3 +... +(0- )71
ERIDE S
The value of

Y0l l0- 02 (012 4. + (0202

is

(@ 1-(0-y™* 0O

1-{0- )"
o O

1
{c) 6_9

(@ 1-101 L[]

187. 5, 8, 159 59 SIS 2’9
The fourth proportion to 5, 8, 15 is
(@ 24 0O
() 20 [
i 28 [l
d 32 L[l
/510-B 33

MR

159.

160.

© Two dice

1 1

+ +
A BB 3
The value of

R

3+-—1—+ L + !
J3 3+4J3 J3-3

is
@ 3 [
() v3 [

1
(C)ﬁ =

1
@ 3 [l

oy O Qe EIE SEEre H 4: 5.
TARPR @I 2
The ratio of cost price and the

selling price is 4 :5. The profit
percent is

(@ 20 [l
) 25 [
e 19 Ll
@ 15 [0

WOl b qeeresl vemiR Wl 279 | pe
SCERI RYN [OF @IFA A SR (AN
Il 2'9

are thrown simulta-
neously. The probability of getting
two numbers whose product is even,

is

@ 5 O
w3 O
@2 O
@5 O

[ P.T.O.



161.

162.

163.

UNIT—IX
( Commerce and Management )

MBO ¢ 7
What is MBO?

(@) Multiple Business Organisation

(b} Management by Objectives O

{c)] Management by Organisation

(d) Multiplicity of Business

Operations

GE F- TGRS

A sole proprietor has

(@) S=RA o A [
unlimited liability -

(b) Sife o e [
limited liability

(c) @ o AR O
no liability

(d) e’ ore = [
None of the above

qoEa @Al B RN STeEY
R (A"

The minimum number of Directors
in a Public Limited Co. is

@ 7 U
k) 5 0
i 2 O

8

(@) 3

/510-B
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164. =R T TR W |
Assets are held for the purpose of

(@) FRR& O

resale

(b) o Toreie [

earning revenue

(c) 5w w=ea saw [

conversion into cash

(d) gt

taxation

165. R& - L e =

Sales — Gross profit =

(@) 38 RE | Ll
Cost of goods sold

(b) Teamm am O

Cost of production

{c) SR we© e L

Opening stock

(d) e wee R [
Closing stock

166,

167.

A 41 A FNCH TGS |

Registration is compulsory in case
of a

(a) o [

company

(b) 9% Fqfter s O

sole proprietorship

(c) S8R e [
. parinership

(d) s°[q @ore 7= [

None of the above

¢R MRE e NewE S AReEaR
e RAewRn R o R =

The structure in which there is

a separation of ownership and
management is called

(a) <3 TEFESG 1 G L

sole proprietorship

(b) SEmIRI I [
partnership

(c) oA e [

comparny

(d) T 4RR G fovm [

All business organisations

/510-B 35

168. 46 QN FEANE FTEEF ICT APU-

169.

e 9| e =w

The members of Board of Directors

of a joint-stock company is elected
by

(@) TR Tl [

general public

(b) v affAl [

government bodies

(¢ Fw@ O

employees

(d) seyEs [

shareholders

9B RS 2 RN WRETE @R
=

The head of a Hindu undivided
family is called

(@) *fRvme [

Manager

() ¥4 L[]
Karta

(c) TofeeR O

Proprietor

(@) s O

Director

[ P.T.O.



170.

171.

R Praws e =@l Fojforg A
49 *[ IW OF FRI

Decisions which can be changed or
totally revoked are called

(@) Sifeecasn O

- irreversible

(p) R [

experimental

¢ Fames¥w [

trial and error

(d) s O

reversible

wr @ o fReERs R fARkwete
lfFS ?

Which of the following two
management functions are closely
related?

(@ R o st O

Planning and Organising

(b) =g ore g O

Planning and Controlling

(o R Famr O

Staffing and Controlling

(@ fRese e e [
Planning and Staffing

/510-B 36

172. A 9@ B <5 ARl fSBME STHE |
A @ AfSHHGIE Se,000 HF A B
IR TEEACSE WA fREIel SReH |
Y9 @9 I AR 2]

A and B are partners in a firm. A
had advanced a loan of & 15,000 at
the beginning of the year. The
amount of interest on loan will be

(@) aeo B [
§ 750

(b) »oo b U
¥ 900

(c) >,000 %3 [
¥ 1,000

(d) s,ec0 b [
¥ 1,500

173. N (R

Goodwill is
(@) 51 vfre s=efs [

a current asset

(b) «b1 =opfefae srife [

a tangible asset

(c) b1 sropfa sefe [

an intangible asset

(@ e O
a liability

B AEEA @A N IR A
AT SRR AT R (R

The minimum number of members
' ‘to form a Public Limited Company is

174.

@ 7
() 5
(c) 3

0 P R 5

(@ 2

176, Wbl el e e Rt wiers
[qua a1 o3 | 2AfSCH SieRp cprar oy

The share capital of a company is
divided into number of parts, Each
part is called

(@) @mere [
dividend

() =ms [
profit

) =g O

share

(@ >m O

interest

176. ©F X (R I 90l oY |

Theory X is a theory of .

(@ Fmzs O

controlling

(b) “fsm [

planning

(c) SeeeRen [
motivation

(@) S O
staffing

‘el AfsEEr R IR
(PTG (o TeTe F9Re 7

Who coined the term ‘scientific
management’?

(@) 9%, ofgs, drme [
F. W. Taylor

(b) &R e [
Henry Fayol

(c) T cm O
Elton Mayo

(d) g ferid [

Rensis Likert

177.

/510-B

¥* ¥ ¥k

37

178. ¥R wRzw fgd oR Stenm IR
CTAIfR 2

Control function
performed without

(@) “FFE [

planning
(b) seoew [
organising
(c) iR [

staffing

(d) @*9q wniREEs [
All of the above

cannot be

179. CAICARA (20 T SR IR

[ 9P Pl |

Communication is the art of
transmitting

(@ wg O
information

(b) e [

ideas

(c) Esd [

attitudes

(d) s°<< =hiEgsssr [

All of the above

180. SEBI (X% ¢

SEBI is

(@) TRafRT re O
statutory authority

(b) S e s sicgrey wem - [
regulatory authority

(c) wemsRefee sker [
non-statutory authority

(d) (@)= (b)TeuibiR [
Both (a) and (b)
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